DARING .

el T INSTALLATION

PRODUCTS

(ZOMBIE WINDSHIELD TRIM 1198 )

FITS: '96-UP FLHT, FLHTC, FLHTCU, FLHX

PARTS INCLUDED

1 Zombie Windshield Trim

1 Hardware Kit Including:

2 1/4" Flat Washer

1/4"-20 x 5/8 Socket Button Head Cap Screw (SBHCS)
1/4"-20 x .625" Knurled Spike Fasteners
1/4"-20 x 1" Knurled Spike Fasteners
Zombie Emblem
1 Installation Instructions

1
2
2
1

Please read and understand entire instructions before starting installation.
THANK YOU FOR CHOOSING KURYAKYN!

IN ORDER TO PROTECT YOU AND OTHERS FROM POSSIBLE INJURY
AND/OR PROPERTY DAMAGE OR LOSS, PLEASE PAY CLOSE ATTENTION
TO ALL INSTRUCTIONS, WARNINGS, CAUTIONS AND ATTENTION NOTES
REGARDING THE USE AND CARE OF THIS PRODUCT.

WARNING! THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE
CONTENTS DESCRIBED HEREIN CAN RESULT IN POTENTIAL DEATH OR
SERIOUS INJURY.

CAUTION! This indication alerts you to the fact that ignoring the contents described
herein can result in potential injury or material damage.

ATTENTIONI!This indication alerts you to the fact that ignoring the contents
described herein may negatively affect product performance and
functionality.

TOOLS SUGGESTED

Set of hex wrenches, Torx wrenches, combination wrenches

STRICTLY OBSERVE THE FOLLOWING GUIDELINES IN ORDER TO USE
THE PRODUCT PROPERLY AND AVOID POTENTIALLY DANGEROUS
ACCIDENTS.

NOTE; IF INSTALLING WINDSHIELD TRIM

ON KiRYAKYN® AIRMASTER™ FAIRING,
USE THE 1/4"-20 X 1" KNURLED SPIKE
FASTENERS.

PROCEDURE

STEP 1 Park the motorcycle on a hard, level surface;
turn off the ignition.

REMOVE THESE
THREE TORX
HEAD SCREWS

1198-12HD-0209

CUSTOMER SERVICE

INSTALLATION QUESTIONS

LIMITED WARRANTY

ABOUT OUR CATALOG




. ]
STEP 2 Remove the three Torx head screws that secure the windshield shown in PIC.1. Set these "UPVE"‘!’"

aside, they will not be used again.

STEP 3 Place the trim in place, lining up the holes in the trim with the holes in the in the
windshield.

STEP 4 Place the 1/4"- 20 x 5/8" SBHCS screw in the center hole without a washer,
do not tighten.

STEP 5 Place the appropriate Knurled Spike Fasteners in the outside holes with

the %" flat washers as shown in PIC.2, do not tighten.
INSERT KNURLED

SPIKE FASTENER WITH
STEP 6 Tighten the screws, being careful not to over tighten them, which may THE 1/4" WASHER

damage the trim.

STEP 7 Place the zombie emblem in place with head facing up as shown in PIC.3.

Ride On!

PAGE

2

(__ZOMBIE WINDSHIELD TRIM _ INSTALLATION )




